Review Questions Economics 480

February 2007

A. Basic
1. Pareto criterion, pp. 35-37

2. Efficiency and markets, chapter 4

a. Explain what three general conditions must be satisfied for an allocation to be Pareto optimal.

b. Explain why competition in product and factor markets (a competitive equilibrium) is Pareto optimal.

c. Explain why or how a demand curve can be reinterpreted as a person’s marginal willingness to pay for a commodity. What is consumer surplus? What is producers’ surplus?

d. Does your willingness to pay to avoid the death of 10,000 geese (A) and your willingness to pay to avoid the death of 20,000 geese (B) added together (A+B) equal your willingness to pay to avoid the death of 30,000 geese?

e. Explain why economic efficiency requires goods to be priced at marginal cost.

f. Dynamic efficiency. State and justify the Hotelling’s Rule (we need to discuss this in class).

B. Market Failure. Public Bads and Externalities. 

Chapter 5.

3. What are the necessary conditions for an efficient (complete) system of property rights?

4. Explain why the existence of air and water pollution is inconsistent with an efficient system of property rights.  What condition is violated?

5. What is a common property resource?

6. What do we mean by the tragedy of the commons?

7. What do we mean when we say that the rents (profits) earned on a common property resource, such as a pasture or a fishery will be dissipated by free entry?

8. What is the distinction between a technologically relevant externality and a pecuniary externality?  Give an example of each.  (See page 91). If I show up at an auction and bid up the price of an item you want, you are worse off. Is this an example of a pecuniary externality or a technological externality? Explain fully.

9. Distinguish between a public good and a public bad.  Give an example of each.

10. When is a good excludable?  (See page 79).  Give an example of a non-excludable good.

11. What constitutes rivalness in a good?

12. Use the construction on pg. 86 to explain why the market will under provide a public good. (We did not discuss this in class).

13. What does it mean that a public bad is non-rival?

14. What information do we need to calculate the social (overall) demand for a non-rival public good?

15. Consider a pasture “open to all” where herders send their cows. The pasture produces 100 units of grass into meat at a one-to-one rate, and the price of meat is 1. The opportunity cost of sending a cow to pasture is 0.5; that is to say, a cow kept at the farm will produce .5 units of meat at the end of the season, so the pasture technology is twice as efficient when the pasture is not crowded.

a. Can we argue that net benefit or rents earned on the pasture will be a maximum when 100 cows graze on pasture?

b. Explain why a new herder will have an incentive to add one more cow (number 101), but society (all herders) is worse off.

c. Is it true if a large number of herders act independently, the equilibrium number of cows will be 200 not 100? What will be the level of net benefits in this situation?

d. Discuss various ways a regulator might implement an efficient outcome in this situation.

C. Property Rights and the internalization of externalities.
Chapter 6 and Class Handouts

16. What is an entitlement?  What institutions in society assign or determine entitlements?

 17. Distinguish between protecting an entitlement by means a property rule or by means of a liability rule.

18. What is the appeal of using the property rule?  What are the limitations of this rule?

19. Consider a case where the state’s information is imperfect. (1) Assume the state does not know the state’s prevention cost but can determine harm to the victim. (2) Assume that harm is $1,000. (3) But the state does not know whether the prevention cost is $800 or $1,200. (4) Assume initially that bargaining is impossible.

a. Given this information, analyze whether the state would make fewer mistakes if protected the entitlement by a property rule or by a liability rule.

b. How would your answer change if you assumed that bargaining is possible?

20. In setting up a system of liability law, what should be the general objectives of the court? Hint: the court wants to minimize something.

21. You should be able to indicate the incentive effects of each of the following rules:

a. Strict liability

b. Negligence

c. Strict liability with defense of contributory negligence

Hint: Remember that the court wishes to influence the care and the activity level of both the injurer and the victim. These rules have a different impact on these incentive margins. Can you construct examples where each of these rules would be superior to the other two?

22. What insights does liability law give you regarding the general question   of whether victims should be compensated or not?

23. Why is it difficult at times to determine which of the two parties involved in an accident is the victim and who is the injurer?

Imagine you add a floor to your house and this change makes it impossible for the smoke from my fireplace to escape into the atmosphere. I am choking on my own smoke. Do you think I should win my own suit?

24. What is the Coase Theorem?

25. What is the policy relevance of the Coase Theorem?

26. Coase makes several criticisms of Pigovian solution to the small group (two person) externality problem.  One of these is that the equilibrium is not unique and may be suboptimal.  The second is that if the tax is paid to the government and the victim and the injurer can bargain with one another they will have an incentive to deviate form the social optimum.

Illustrate (demonstrate) each of these two problems with the numerical examples for the railroad and the farmer presented by Ruffin.

D. Command and Control – Pigovian Taxes and Permits

Chapter 7, 8, and 9 and Class Handouts

27. What is the basic rationale for imposing taxes on pollution?

28. Although Coase and the bargaining approach has been influential in the development of law and economics, Coase is not mentioned in some books on Environmental Economics.  Why do you think this is the case?

29. What is the Equimarginal Principle and why is it important?

30. We did not discuss fees versus subsidies (pages 124-128), but you should know why taxes on pollution are superior to subsidies as an instrument to cleanup pollution.  See the last paragraph on page 128.

31. Using the material in Chapter 8 and the class handouts sketch the basic features of a C and C system of regulation.

32. Explain using the class handout or the original article by Stavins why the C & C is used so extensively.

33. What are some of the limitations of a command and control system?  

34. You should know various concepts related to C & C and the evolution of this system towards greater flexibility.  Especially important is how non-attainment areas are regulated and the significance of the emission reduction credit (ERC) and the related concepts of banking and netting.  The latter is related to the new source review process.  The bubble is another important innovation.

35. New source review is related to new source bias.  Discuss the significance of this bias, why it occurs and how it hinders the control of pollution.  Also, how might new source bias be eliminated or minimized?

36. More generally, you should be able to write a short essay on how the C & C gradually evolved into a more flexible system, which evolved into a permit system for SO2 emissions in 1990.  

37. Why do writers believe that is it is immoral to buy the Right to Pollute?  What arguments do they make?  What are the best responses to these arguments?

38. Is it correct that under conditions of certainty that taxes on pollution (prices) are equivalent to permits (quantities) with respect to pollution levels and the price of pollution rights?

39. What are two general ways of distributing pollution permits?

40. Are there, in your view, sound equity reasons for giving the permits away rather than auctioning off the permits?

41. When regulators do not know how easy (expensive) it is to clean up pollution, should they use taxes or permits?

42. If permits are given away do the incumbent firms collect the revenue, which might have been collected by the government? Does your answer depend on whether the industry to subject to price regulations?

43. What is the tax-recycling effect?  What is the tax-interaction effect?  Explain why these two effects largely offset one another.

44. Is there a double dividend?

45. Why is the tax-interaction effect generally larger than the tax-recycling effect?

46. Explain why it is not important to auction off permits at very high levels of abatement (low levels of residual pollution).

47. Explain why for low and moderate levels of clean up it maybe more efficient to use command and control relative to using permits which are given away.

48. Under conditions of uncertainty about the cost of clean up where the regulator knows the damage of the relationship it can argued that if there is only one polluter that the regulator can be always efficient.  How is this so?  Does this argument generalize to more than one polluter?  If not?  Why? Hint: The regulator will face the objectives.

49. What is the difference between cost effectiveness and efficiency in the control of pollution? Can we be cost-effective and not be efficient? Can we be efficient without being cost-effective?

50. Why were permits adopted in 1990 to address the acid rain problem related to SO2 emissions?

51. We need to cover dynamic efficient before you answer this.

a. Suppose you buy an abandoned hotel on Montrose, close to Rice University. You plant to build a hotel on the land ten years from now and it will cost you $1 million to demolish the old building. Will you demolish the building now or wait until your planned period of construction? The building is an eyesore and is rat infested. Explain your decision.

b. A small Texas town has an underground water supply that is costless to produce and distribute. The capacity of this supply is limited to 1 million gallons a day, but as long as the town does not use more than this amount, the water supply will not be depleted as rain restores the underground stock. At present, the town is only using 700,000 gallons a day and is charging a zero price for water. Once full capacity is reached the town will have to develop a surface source of water that will be quite expensive, but with constant marginal costs. The town knows that full capacity of the underground supply will be reached in ten years.

i. Should the town raise its current price of water and keep increasing it over time?

ii. 
Should the town keep the price at zero until full capacity is reached for underground water and then charge the marginal cost of surface water for both underground and surface water?

iii. Should town keep the price at zero and charge average cost once it starts to use the expensive source? Everyone in the town has the same income but is quite poor.

Justify your answer.

To be continued….
